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®2-1 BLEPEE

ZHA H 1 EEE L7l I ql q2 Q3 a4 Qo
1 10/24/08 US M 32 5 4 5 5 5
2 10/28/08 Us F 45 3 5 2 5 5
3 10/01/08 UK F 25 3 5 5 5 2
4 10/12/08 UK M 39 3 3 4
5 05/01/09 UK F 99 2 2 1 2 1
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>manager<-c(1, 2, 3, 4,5)

>date<-c("10/24/08", "10/28/08", "10/01/08", "10/12/08", "05/01/09")

>country<-c("US", "US", "UK", "UK", "UK")

>gender<-c("M", "F", "F", "M", "F")

>age<-c(32, 45, 25, 39, 99)

> ql<-c(5, 3,3, 3, 2)

> q2<-c(4,5,5,3,2)

> q3<-c(5,2,5,4,1)

> g4<-c(5,5,5, NA, 2)

> g5<-c(5, 5,2, NA, 1)

> leadership<-data.frame(manager, date, country, gender, age, ql, q2, g3, g4, g5)

>leadership
SHER

manager date country gender age ql g2 q3 g4 g5
1 1 10/24/08 us M 32 5 5 5 5
2 2 10/28/08 us F 45 3 5 2 5 5
3 3 10/01/08 UK F 25 3 5 5 5 2
4 4 10/12/08 UK M 39 3 3 4 NA NA
5 5 05/01/09 UK F 99 2 2 1 2 1
>
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>mydata<-data.frame(xl=c(2, 2,6, 4), x2=c(3, 4, 2, 8))



>attach(mydata)

>mydata $ sum< - x1+x2
>mydata $ mean< - (x1+x2)/2
>detach(mydata)

>mydata

SR

X1 X2 sum mean

1 2 3 5 2.5

2 2 4 6 3.0

3 6 2 8 4.0

4 4 8 12 6.0

3. A8 44 manger & 2H managerlD, J£6f date 1B testDate
[ZHEE]

SR .

>names (leadership)[1]<-"mangerID"
>names (leadership)[2]<-"testDate"

>leadership

>

SHEER

-

<j§angerID testdEEE>country gender age ql q2 q3 q4 q5 agecat
1708 us M 5 4 5 5 Young

2 2 10/28/08 us F 45 3 5 2 5 5 Young

3 3 10/01/08 UK F 25 3 5 5 5 2 Young

4 4 10/12/08 UK M 39 3 3 4 NA NA Young

5 5 05/01/09 UK F NA 2 2 1 2 1 <NA>
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[Z2HER]
(1) Z%0H.
>newdata<-na.omit(leadership)
>newdata
BHLER

manager date country gender age ql g2 g3 g4 q5 agecat
1 1 10/24/08 us M 32 5 4 5 5 5 Young
2 2 10/28/08 us F 45 3 5 2 5 5 Young
3 3 10/01/08 UK F 25 3 5 5 5 2 Young
> |
(2) ZH
>dates<-as.Date(leadership[, 2], "% m/% d/% y")
>dates
B

[1] "2008-10-24" "2008-10-28" "2008-10-01" "2008-10-12"
[5] "2009-05-01"

(3) 2%

>ID =c(1,2,3,4,5)



>country = c("china", "UK", "France", "Germany", "Australia")
>person = c(200, 400, 300, 800, 450)

>dataframeA = data.frame(ID, country)

>dataframeB = data.frame(ID, country, person)

>total = merge(dataframeA, dataframeB, by = c("ID", "country"))



